		APPROX.		I D WE DO LOE	ANGURUT
ITEM NO.	ITEM	QUANTITY	UNIT	UNIT PRICE	AMOUNT
203.0100B	Roadway Excavation	151	CY	\$ 60895	\$91951.45
203.0210B	Borrow Excavation	20	CY	\$ 123.98	\$ 2479.60
209.0100	Water Pollution and Erosion Control	FA	FA	FA	\$10,000.00
312.1000B	Plant Mix Glassphalt Concrete Base Course	395	TON	\$ 107.40	\$ 42427.00
401.0400B	Asphalt Concrete Pavement, Mix No. IV	124	TON	\$251005	\$ 31868.00
606.5000B	Guardrail Type Strong Post W-Beam	300	LF	\$29.90	\$8970.00
606.7000B	Terminal Section, Type FLEAT 350	1	EACH	\$ 11 98.50	\$7198.50
621.1300B	Foundation and Post for Relocated Destination Sign	2	EACH	\$1162.85	\$ 2325.70
621.4700B	Type II Object Marker	5	EACH	\$ 29.90	\$149.50
621.5000A	Regulatory and Warning Sign, (10 square feet or less)	4	EACH	\$107.45	\$ 429.80
621.5000B	Regulatory and Warning Sign, (10 square feet or less)	5	EACH	\$83.00	\$415
621.5100A	Regulatory and Warning Sign, (10 square feet or less), with post	4	EACH	\$ 304.55	\$ 2325.70 \$ 149.50 \$ 429.80 \$ 415.80 \$ 1218.20 \$ 1351.20
621.5100B	Regulatory and Warning Sign, (10 square feet or less), with post	4	EACH	\$ 337 80	\$ 1751.20
					·

		APPROX.	·	·		
ITEM NO.	ITEM	QUANTITY	UNIT	UNIT PRICE	AMOUNT	
621.5300B	Regulatory and Warning Sign, (Greater than 10 square feet), with post	2	EACH	\$ 3559.9	111-1-84	hy
621.5301A	Warning Sign with Post and Flashing Yellow Beacon	2	EACH	\$802.90	\$ 1405.90	
621.5400A	Construction Sign with Two Posts	8	EACH	\$1/81.75	\$ 3854.00 \$ 3854 00 \$ 1218.20	
621.5400B	Construction Sign with Two Posts	8	EACH	\$481.75	\$78540	<i>,</i>
621.5410A	Construction Sign without Posts	4	EACH	\$ 304 55	\$1218.20	
621.5410B	Construction Sign without Posts	4	EACH	\$ 304.55	\$ 121820	
621.8000B	Relocation of Existing Regulatory and Warning Sign	6	EACH	\$249.20	\$1495 20	
621.8001B	Relocation of Existing Destination Sign	1	EACH	\$448.50	\$ 121820 \$ 149520 \$ 448.50 \$ 88600	
622.0120A	Removal of Existing Highway Lighting Wood Pole, Luminaire, and Wiring	1	EACH			
622.0121B	Highway Lighting Standard with Pole, Mast Arm, Luminaire and Concrete Foundation	5	EACH	\$41400	\$ 23700.0	9
622.0122A	Highway Lighting with Wood Pole, Mast Arm, Luminaire and Wiring	2	EACH	\$1772.00	\$ <u>9544.99</u>	:
622.0508A	Waterproof Fuse Connectors with Fuse and Appurtenances	2	EACH	\$48.85	\$97.10	

		APPROX.			
ITEM NO.	ITEM	QUANTITY	UNIT	UNIT PRICE	AMOUNT
622.050 8 B	Waterproof Fuse Connectors with Fuse and Appurtenances	5	EACH	\$48.8ts	\$ 244.25 \$ 18314.89
522.5030A	Highway Lighting Ductline, One 2-inch PVC, Schedule 80, Direct Buried (150 L.F.)	LS	LS	LS	\$ 18014.89
622.5030B	Highway Lighting Ductline, One 2-inch PVC, Schedule 80, Direct Buried (430 L.F.)	LS	LS	LS	\$43206.43
622.5035B	Highway Lighting Ductline, One 2-Inch PVC, Schedule 40, Concrete Encased (125 L.F.)	LS	LS	LS	\$ 2 14 55
622.5040A	Highway Lighting Power Cable, No. 6, 3-Conductor and No. 8 Ground (450 L.F.)	LS	LS	LS	\$43206.43 \$21465 \$9000.46
622.5040B	Highway Lighting Power Cable, No. 6, 3-Conductor and No. 8 Ground (650 L.F.)	LS	LS	LS	\$ 1047124 \$ 814.09 \$ 814.09 \$ 5690.3 \$ 6611.60
622.5045A	Highway Lighting Cable, No. 10, 2-Conductor (175 L.F.)	LS	LS	LS	\$ 814.09
622.5045B	Highway Lighting Cable, No. 10, 2-Conductor (175 L.F.)	LS	LS	LS	\$814.00
622.7000B	Highway Lighting Pullbox, Type A with Modified Cover	7	EACH	\$ 812.90	\$ 5690.3
622.8000A	Electric Service Ductline, One 2-Inch PVC, Schedule 40, Concrete Encased (60 L.F.)	LS	LS	LS	<u>\$ 6611. 60</u>

		APPROX.			
ITEM NO.	ITEM	QUANTITY	UNIT	UNIT PRICE	AMOUNT
622.8500A	Electric Service Pullbox, 2 x 4	1	EACH	\$1032.19	\$\\\0002\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\
622.9000A	Electric Service Equipment	1	EACH	\$4078.70	\$ 4078.70
622.9000B	Electric Service Equipment	1	EACH	\$2712.80	\$2712.85
623.2002A	Controller Assembly (Model 170 EX Traffic Signal Controller Unit Type 332A Cabinet and Auxiliary Equipment)	1	EACH	\$15 HM.10	<u>\$ 15 14 %, 7.0</u>
	Uninterruptible Power Supply Assembly, Cabinet and Auxiliary Equipment	1	EACH	\$ <u>UM8.99</u>	2 <u>\$ whn8. 53</u>
	Type IV Traffic Signal Standard with Wood Pole, Tether Cable, Messenger Cable and Guy and Anchor	4	EACH	\$4718.20	\$18879.4 \$4499.40 \$2482.4
623.2050A	Foundation for Controller Cabinet/UPS	1	EACH	\$4499.40	844 99 4 0
	Traffic Signal Assembly (One-Way, 12-Inch, 1-3 Section Vertical with Bracket Mounting)	4	EACH	\$ 870.00	\$ 3482.4
623.3001A	Traffic Signal Assembly (One-Way, 12-Inch, 1-3 Section Span Wire Mounting) with Back Plate	10	EACH	\$112600	\$ 11260°0 \$ 11260°0 \$ 2949.20 \$ 911848.9
623.3700A	Opticom Receiver (TPIW-EVP Mounting)	3	EACH	\$081.00	\$2949.20
623.5000A	Traffic Signal Ductline, One 2-Inch Conduit, Schedule 80, Direct Buried (1,100 L.F.)	LS	LS	LS	s aus48.9

ITEM NO.	ITEM	APPROX. QUANTITY	UNIT	UNIT PRICE	AMOUNT
TIEWINO.	I I EIVI	QUANTITI	ONI		
623.5010A	Traffic Signal Ductline, Three 2-Inch Conduit, Schedule 80, Direct Buried (20 L.F.)	LS	LS		\$ 1700.90
623.5020A	Traffic Signal Ductline, Four 2-Inch Conduit, Schedule 40, Concrete Encased (180 L.F.)	LS	LS	LS	\$ 10841.8
623.6000A	Type A Pullbox	9	EACH	\$812.90	731010
623.6010A	Type B Pullbox	1	EACH	\$ 987.45	731010 018340 \$1154.00
623.6020A	Type C Pullbox	1	EACH	\$1154.00	\$ 1154.99
623.7010A	No. 6, 3-Conductor Power Cable and No. 8 Ground (100 L.F.)	LS	LS	LS	\$ 825.09 \$ 1041.00 \$ 4128.4
623.7020A	No. 14, 26-Conductor Traffic Control Cable (200 L.F.)	LS	LS	LS	\$ 1041.00
623.7030A	No. 14, 4-Conductor Signal Drop Cable (2,100 L.F.)	LS	LS		
623.7040A	No. 16, 2-Conductor Loop Detector Lead-In Cable (2,500 L.F.)	LS	LS		\$4827°°
623.7070A	No. 20, 3-Conductor Opticom Receiver Cable (900 L.F.)	LS	LS	LS	\$ 2812.45
623.70 8 0A	Preformed Loop Detector Sensing Unit, 6' x 6'	2	EACH	\$ 1100,00	\$2320.49
623.7081A	Preformed Loop Detector Sensing Unit, 6' x 40'	6	EACH	\$ 20 (8).2	\$2320.45 \$12361.50 \$1252.65
623.7082A	Preformed Loop Detector Sensing Unit, 6' x 60'	2	EACH	\$ 3126.40	s (Q252.5°

ITEM NO.	ITEM	APPROX. QUANTITY	UNIT	UNIT PRICE	AMOUNT
TIEWINO.	TILIVI	QUARTITI	OIVII		
623.9005A	Traffic Signal Service Equipment	1	EACH	\$ 2112.35	\$271285
623.9050A	County of Hawaii Charges for Technical Assistance (Programming, Testing, and Start-up)	FA	FA	FA	\$10,000.00
629.1011A	4-Inch Pavement Striping (Thermoplastic Extrusion)	1890	LF	\$ 1.50	\$ 2835 bo \$ 2422 x \$ 240°0
629.1011B	4-Inch Pavement Striping (Thermoplastic Extrusion)	1748	LF	\$1.50	\$ 2422
629.1012B	6-Inch Pavement Striping (Thermoplastic Extrusion)	80	LF	\$2,00	\$240°Q
529.1013A	8-Inch Pavement Striping (Thermoplastic Extrusion)	1336	LF	\$ 2.00	\$ 4008.00
629.1013B	8-Inch Pavement Striping (Thermoplastic Extrusion)	1540	LF	\$ 7.00	\$ 4620.0g
529.1014A	12-Inch Pavement Striping (Thermoplastic Extrusion)	80	LF	\$ 4.50	s 340.00
629.1014B	12-Inch Pavement Striping (Thermoplastic Extrusion)	245	LF	\$ 4.50	\$ 11025
529.1020B	Crosswalk Marking (Thermoplastic Extrusion)	4	LANE	876000	\$1440.09
529.1030A	Pavement Arrow (Thermoplastic Extrusion)	10	EACH	\$ 304.95	\$3045.5
629.1030B	Pavement Arrow (Thermoplastic Extrusion)	10	EACH	204.55	\$ 2045.2
529.1040B	Pavement Symbol (Shark's Teeth Marking) (Thermoplastic Extrusion)	8	EACH	\$ 7.00 \$ 7.00 \$ 4.50 \$ 4.50 \$ 504.95 \$ 304.55 \$ 304.55 \$ 304.55	\$ 2702.8

		APPROX.				İ
TEM NO.	ITEM	QUANTITY	UNIT	UNIT PRICE	AMOUNT	
529.2010B	Type A Pavement Markers	28	EACH ¥	3.05	\$225.40	
529.2030A	Type C Pavement Markers	67	EACH	\$ 805	\$ 579.79	
529.2030B	Type C Pavement Markers	79	EACH	\$ 809	\$695.95	<i>,</i>
529.2040A	Type D Pavement Markers	21	EACH	\$ 804	\$ 149.55	
529.2040B	Type D Pavement Markers	34	EACH	\$ 804	\$ 270.70	
529.2070A	Type H Pavement Markers	34	EACH	\$ 805	\$ 279.70	
529.2070B	Type H Pavement Markers	19	EACH	\$ 8.05	\$ 152.95	
529.3050B	Pavement Bike Route Symbol (Biker and Arrow) (Paint)	2	EACH	\$ 149.50	299.00°	2 KN
636.0200	Field Office (Not to Exceed \$32,000)	LS	LS	LS	<u> </u>	¥ k I
	Additional Police Officers and/or Additional Traffic Control Devices	FA	FA	FA	,	
	Mobilization (not to exceed 10 % of the sum of all items excluding the bid price of this item, field office, and force account items)	LS	LS	Γċ	60,09849	۴

ITEM NO.	ITEM	APPROX. QUANTITY	UNIT	UNIT PRICE	AMOUNT	•
	SUM OF ALL ITEMS Note: Bidders must complete all unit prices and amounts. Failure to do so may be grounds for rejection of bid.				\$\frac{143,900.00}{3,904,63} 749,700.00	7-00

PROPOSAL SCHEDULE

The bidder is directed to Subsection 108.01 - Subletting of Contract.

The bidder's attention is directed to 636 - Field Office and 699 - Mobilization for the limitation of the amount bidders are allowed to bid.

If the bid price for any proposal item having a maximum allowable bid indicated therefor in any of the contract documents is in excess of such a maximum amount, the bid price for such proposal item shall be adjusted to reflect the limitation thereon. The comparison of bids to determine the successful bidder and the amount of contract to be awarded shall be determined after such adjustments are made, and such adjustments shall be binding upon the bidder.

The bidder is directed to Subsections 106.12 - Recycling of Waste Glass and 106.13 - Ordering of Certain Material.